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%}% TREOBHOEILADKES TREDHBERILEIDKRES TREOBDHOEILADKRES TREDOHBERILADKRES
&2 R 4 .(Er.s Tjﬁﬁb(z)o)ﬂﬁﬁﬁ 73(3)’\‘3%3 R 4 Timﬁggngn;kqi .(.:—,ma)k j:(ﬁatnié R 4 .(Er,nz)c J:irrﬁ?b(z)@tl:.ax 73&3(53 B 4 J:jﬁ’ﬁt)(z)o)ﬂ.’.laj '?3 jj(gr)fn?)é
: 100kN/mM#%#E % % — -~ — —|3m%EFEBZ5 -~ — — —| 100kN/m#%#E % % — -~ — —|3mZ#Z B -~ — — —
Thist - -~ - | Fhus | -~ -] - - Fhis - -~ - —| ghoust | -~ —| - -
’ 100kN/mM#%#EZ % — -~ — —|3m%EFHBZAD -~ — — —| 100kN/m#%#EZ % - -~ - —|3mz#EZB -~ — — —
Zhst — — ~ — — [ #hust — ~ — — — Fhst — — ~ — — | #h st — ~ — — —
3 100kN/m##8%2%| 1.00| 000 ~ 0.86 112.94 |3m%#23 - ~ - - —|[ 100kN/m%E#B 25| 1.00 [11.32 ~ 14.60 112.94 |3m%#Ai3 — ~ — — —
Fhst 1.00 | 086 ~ 8.65 100.00 | #hkist | 000 ~ 0.00| 1.63 8.74 Fhst 1.00| 500 ~ 11.32 100.00 | #h kst | 500 ~ 1460 | 1.63 8.74
4 100kN/mi%#8%2%| 100| 000 ~ 087 112.96 |3m%#Zi3 -~ - - —|[ 100kN/m%E#E %% 1.00 [11.32 ~ 14.60 112.96 |3m%#A 5 -~ - - -
Zhst 1.00 | 087 ~ 865 100.00 | #h kst | 000 ~ 0.00| 1.63 8.74 Fhst 100 | 500 ~ 11.32 100.00 | #h kst | 500 ~ 1460 | 1.63 8.74
5 100kN/mM#Z#B % % — -~ — —|3mEHBR S -~ — — —| 100kN/mM%Z#B %% — -~ - —|3m%EEB X3 - ~ - — —
Zh st — — ~ — — [ Zhst — ~ — — — Thst — — ~ — — | #h st — ~ — — —
6 100kN/M#EH#BZ % — -~ — —|3mEHBZS -~ — — —| 100kN/M%Z#B %% — -~ - —|3m%EHBZ3 -~ — — —
Zhst — - ~ — — [ #hst - ~ — — — Zhst — - ~ — — | #h st - ~ — — —
; 100kN/mM#E#B %% - -~ — —|3mEHBEZD -~ - — —| 100kN/mMZ#B %% — -~ - —|3m%EHEBZ 3 -~ - — —
Zhst — — ~ — — [ #huist — ~ — — — Fhst — — ~ — — | #h st — ~ — — —
g 100kN/M%EH#B % % — -~ — —|3m%EHBZ S -~ — — —| 100kN/M%Z#B %% — -~ — —|3m%EHBZ3 -~ — — —
Fhst — — ~ — — [ #hst - ~ — — — Fhst — — ~ — — | 2h st — ~ — — —
9 100kN/M#ZEH#B % % - -~ — —|3mEHBZ D -~ - - —| 100kN/MZ#B %% — -~ - —|3m%EHEBZ3 -~ — — —
Zhst — — ~ — — [ #hist - ~ — — — Fhst — — ~ — — | 2h st - ~ — — —
10 100kN/mM#Z#BZ % — -~ - —|3m%EBZ D -~ - - —| 100kN/mM%Z#BZ % — -~ — —|3m&#ER5 -~ — — —
Zhust - -~ = —| Zhis -~ -1 - — Zhust - -~ = —| This -~ -1 - —
» 100kN/mM#%#B % % — - ~ — —|3m%EFHBZAD -~ — — —| 100kN/m#%#EZ % — -~ — —|3mZx#EZB -~ — — —
Thilst — -~ — —| Zzhs -~ — - — Thils — -~ — —| Zhust -~ — — —
12 100kN/mM#%#E % % — -~ — —|3m%EFEBZ5 -~ — — —| 100kN/m#%#E % % — -~ — —|3mZ#BZ B -~ — — —
Thist - -~ - I L e - Fhis - -~ - —| ghoust | -~ —| - -
13 100kN/mM#%#EZ % — -~ — —|3m%EFHBZAD -~ — — —| 100kN/m#%#EZ % - -~ - —|3mz#EZ B -~ — — —
Zhust - -~ = —| Thisn -~ -1 - — Zhust - -~ = —| This -~ -1 - —
14 100kN/mM#%#B % % — - ~ — —|3mZEFHBZD -~ — — —| 100kN/m#%#E % % — -~ — —|3mZE#ZD -~ — — —
Thist — -~ — — | Zhs -~ — — — Thilst — -~ — —| Zhuist -~ — — —
15 100kN/mM#%#E % % — -~ — —|3mEFEBZR5 -~ — - —| 100kN/m#%#EZ % - -~ - —|3mz#Z B -~ - - -
zhist - -~ - —| Fhos | -~ -] - —| _ Fhus - -~ - —| zhust | — ~ —| —
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SUEFH O T iRICHIET 514 SUERIHPA
%}% TREOBHOEILADKES TREDHBERILEIDKRES TREOBDHOEILADKRES TREDOHBERILADKRES
&2 R 4 .(Er.s Tjﬁﬁb(z)@ﬁﬁﬁﬁ 73(3)’\3%3 R 4 ‘Finﬁﬁggzg)n;kqi .(.:—,ma)k j:(ﬁatnié R 4 .(Er,nz)c J:iﬁﬁb(z)@ttm 73&3(53 B 4 J:inﬁt)(z)@tt.a, .?na; jn(glb\acf)é
16 100kN/mM#%#E % % — -~ — —|3m%EFEBZ5 -~ — — —| 100kN/m#%#E % % — -~ — —|3mZ#Z B -~ — — —
Zzh st - - ~ - —| Th s -~ - - - zhs - -~ - —| zhus -~ - - -
17 100kN/mM#%#EZ % — -~ — —|3m%EFHBZAD -~ — — —| 100kN/m#%#EZ % - -~ - —|3mz#EZB -~ — — —
Zzh st — — ~ — — [ #hust — ~ — — — Fhst — — ~ — — | #h st — ~ — — —
18 100kN/M#E#B % % — -~ — —|3m%EHBZ S -~ — — —| 100kN/M%#B %% — -~ — —|3m%EHBZ3 -~ — — —
ZhLst — — ~ — — [ #hst - ~ — — — Fhst — — ~ — — | 2h st — ~ — — —
19 100kN/mi%#8%2%| 100| 000 ~ 087 112.98 |3m%#Zi 3 -~ - - —|[ 100kN/m%E#E %% 1.00 [11.31 ~ 14.60 112.98 |3m%#A 5 -~ - - -
Zh st 1.00 | 087 ~ 865 100.00 | #h kst | 000 ~ 0.00| 1.63 8.74 Fhst 100 | 500 ~ 11.31 100.00 | #h kst | 500 ~ 1460 | 1.63 8.74
20 100kN/m#%#8%2%| 1.00| 0.00 ~ 1.04 11568 |3m&#Ai3 -~ - - —|[ 100kN/m%#B %% 1.00 [11.43 ~ 15.70 11568 |3m%#Ai3 — ~ — — —
Zh st 1.00| 1.04 ~ 883 100.00 | #hList | 000 ~ 0.00| 1.62 8.70 Thst 100 | 500 ~ 1143 100.00 | #h kst | 500 ~ 1570 | 1.62 8.70
21 100kN/m##8%25| 100| 000 ~ 087 112.98 |3m%#2 3 -~ - - —|[ 100kN/m%E#B 25| 1.00 [11.31 ~ 14.60 112.98 |3m%#2 3 -~ — — —
Zh st 1.00 | 087 ~ 865 100.00 | #h kst | 000 ~ 0.00| 1.63 8.74 Zhst 1.00| 500 ~ 11.31 100.00 | Zh L5t | 500 ~ 1460 | 1.63 8.74
99 100kN/mM#E#B %% - -~ — —|3mEHBEZD -~ - — —| 100kN/mMZ#B %% — -~ - —|3m%EHEBZ 3 -~ - — —
Zzh st — — ~ — — [ #huist — ~ — — — Fhst — — ~ — — | #h st — ~ — — —
03 100kN/M%EH#B % % — -~ — —|3m%EHBZ S -~ — — —| 100kN/M%Z#B %% — -~ — —|3m%EHBZ3 -~ — — —
Zh st — — ~ — — [ #hst - ~ — — — Fhst — — ~ — — | 2h st — ~ — — —
24 100kN/M#ZEH#B % % - -~ — —|3mEHBZ D -~ - - —| 100kN/MZ#B %% — -~ - —|3m%EHEBZ3 -~ - — —
Zhst — — ~ — — [ #hist - ~ — — — Fhst — — ~ — — | 2h st - ~ — — —
05 100kN/mM#Z#BZ % — -~ - —|3m%EBZ D -~ - - —| 100kN/mM%Z#BZ % — -~ — —|3m&#ER5 -~ — — —
Zzhst - -~ - —| Ths -~ - - - zhst - -~ - —| zhus -~ - - -
26 100kN/mM#%#B % % — - ~ — —|3m%EFHBZAD -~ — — —| 100kN/m#%#EZ % — -~ — —|3mZx#EZB -~ — — —
zh st — -~ - —| Zhst -~ — - - zhns - -~ - —| £hus -~ — — —
. 100kN/mM#%#E % % — -~ — —|3m%EFEBZ5 -~ — — —| 100kN/m#%#E % % — -~ — —|3mZ#BZ B -~ — — —
zhnLs 1.00] 000 ~ 7.12 9052 [ Zhiis | 000 ~ 712 1.73 9.23 zhns 1.00] 5.00 ~ 9.00 90.52 | Zh s | 500 ~ 9.00( 1.73 9.23
08 100kN/mM#%#EZ % — -~ — —|3m%EFHBZAD -~ — — —| 100kN/m#%#EZ % - -~ - —|3mz#EZ B -~ — — —
zhns 1.00| 000 ~ 6.03 7558 | Zh s | 000 ~ 6.03| 1.83 9.80 zns 1.00] 5.00 ~ 7.00 7558 | #hLis | 500 ~ 7.00( 1.83 9.80
29 100kN/mM#%#B % % — - ~ — —|3mZEFHBZD -~ — — —| 100kN/m#%#E % % — -~ — —|3mZE#ZD -~ — — —
Thist — -~ — — | Zhs -~ — — — Thilst — -~ — —| Zhuist -~ — — —
30 100kN/mM#%#E % % — -~ — —|3mEFEBZR5 -~ — - —| 100kN/m#%#EZ % - -~ - —|3mz#Z B -~ - - -
Zzh st — — ~ — —| Ths — ~ — — — Zzh st — - ~ — —| zhs — ~ — —
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